472 [ a3s || 1aq || 305 || 1121 |

Choose two or three card

numbers with a total as 472, 1-99, 3-05 (total = 9-76)

close to 10 as possible.

o Choose two card numbers with a difference as close to 2 as possible.

9-35, 1 1-:21 (difference = 1-86)

_________________
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Are you certain
you got as close
as possible?
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o Find the missing digits. =
4 q | 8 . i
None of the missing e
digits are the same. + |7 9 |04 Rl
-3
I 2 8 2 2

O s0%of32=| 16 | @) 40%0fs5=| 18

© 10%ofs0=| 5 | € 5%ofi20=| 6

© 1%ofs00=| 5

€ 20%of15=| 3

Each answer above matches a letter in the alphabet, soa =1, b =2,
¢ = 3, and so on. Find the letters to make a word. There is a letter
missing from the end of the word. What is it?

16=P,5=E, I8=R,6=F,5=E,3=C

T is the missing letter. The word is PERFECT.
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@ 20:(100-36)=| 5

Write the value of each letter.

@ 67-n=32,son=| 35

m I3xm=52,som=| 4

@ Write the length of the missing side. 10-5cm

ncm

4cm| Area = 42cm?

Letters and numbers €

hallenge!

@ 7x(132-33) =| 643

@ 4xt=120,50t=] 30

m wW-16=42,sow=| 58

@ Find a pair of numbers that works in both of these number sentences.

(m+n)x5=35

m=| 2

and 24 =m=17-n

n=| 5

I found this:

(L) Easy Challenging

©) 1needed help
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